VIDYA BHAWAN BALIKA VIDYA PITH

CLASS- 5 DATE-17.05.21
SUB -MATHS S. T- PRAGYA
BASED ON N.C.E.R.T PATTERN
CH- INTEGERS

Solve these questions :- ( One is done for you )

1.Add the following INTEGERS using the rules of
Addition .

A.—112+(-198 )=-310

B.-15+6 = -—---—--

C—23+(-11)= -—-—----

D. —105+98 = ----------

E.— 2005+ 1008 = -----------

F.—3102 + 1001 = ---—------

G. 525+106 =--—---—--

H. 408+ (-304) = ---—----
2.What is the additive inverse of :

A. -5 B.64 c.-229 D.O
3.What is the successor of :

A.0 B. 84 C.-319 D.-100
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